Efficiency vs dr

x 0.2
g L
» 0.18F
20 18:
> -
00.16
c o
o [
©0.14F
5 E
0.12F
0.1+
0.08F
0.06F
0.04F,
0.02F
F
2 % VRSN Ongmal_RECO
© F Il == oomvooor™ R000000001—Global —MKFItNOW et — RECO
14 [l —— D M_V0001_R000000001_Global_mkFitNewDett33__RECO
1 1~ kFltNewDetNoF_ RECO

o
©
a

1072 107

=
S
w

1
TP min AR

[ Efficiency vs dr (track,jet) |
§ 0.1
0 0.09
=
o
z 0.08
£20.07
>
20.06
@
o
£ 0.05]
3]
0.04
0.03
0.02
0.0
e

Ratio
N

0.95

1072 107
AR(TP, jet)

=
S
w

Efficiency vs pu

0.1

...............................................

................................................

o
w
o
N
o
o=
o
2]
o
~
o

80
Pileup



	Contents
	Page 1


